Al A

A SXEH
A HH2IAY(SXEZHL)
Etelr D23 (2] &)
SA - HH - G(B1H) - NIRAY - BES 04l v ol 3 o HmE==T
SXZE2 38,481,305 36,613,881 1,867,424
= 20,759,207 20,984,353 A225,146
as 653,999 641,161 12,833
== 3,725,013 3,822,351 97,338
= 13,343,086 11,166,016 2,177,070
Y2 ZH(SXE D) 36,100 34,690 1,410
JlE23dl 36,100 34,690 1,410
Jle=dl 36,100 34,690 1,410
201 LBt23Y| 23,860 23,050 810
01 At22t2ltl 15,860 15,050 810
OZAH(SXIE &I HRFH)
9,000 *1801x30A! 4,860 4,050 810
203 LRF=&Ib| 3,600 3,000 600
M FA2ILLFALI 3,600 3,000 600
ORNM2IARFL| 300,0002%122 3,600 3,000 600
FOIXER] D8t 25} 609,366 521,525 87,841
= 70,000 0 70,000
== 76,000 75,000 1,000
= 463,366 446,525 16,841
SX01E 249 211,050 136,050 75,000
= 70,000 0 70,000
== 76,000 75,000 1,000
= 65,050 61,050 4,000
MEISXEEHEH 29 K& 55,000 50,000 5,000
== 11,000 10,000 1,000
= 44,000 40,000 4,000
307 QI2+0|H 55,000 50,000 5,000
== 11,000 10,000 1,000
= 44,000 40,000 4,000
11 AIBSISXAIEE X 55,000 50,000 5,000
OAZIEXdEHH 89 X
55,000,000 55,000 50,000 5,000
== 11,000 10,000 1,000
= 44,000 40,000 4,000
M= S AFS 70,000 0 70,000
= 70,000 0 70,000
302 Ol Mo E24a=2 70,000 0 70,000
= 70,000 0 70,000
02 QIZtoITHi Y EFREsE o= 70,000 0 70,000
O RS R AAIS (HEH)
70,000,000 70,000 0 70,000
= 70,000 0 70,000
FR0IEA 2R NNL2Y 398,316 385,475 12,841
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o
el

SXEH
IR J18E A5t
F=RO0IZAIE 22| RARLE2S

SH - BB G(3) - AR - LS O o ol 3 o IRz
sXz22d 398,316 385,475 12,841
401 Al&HIZLLOHY] 162,841 150,000 12,841
01 Al&HI 162,841 150,000 12,841
OZ2MEHSXZ 2 AEE>
5,000,000 5,000 0 5,000
OMZTHSXIZ 2 AEE>
7,841,000 7,841 0 7,841
=0t 22 22 € K& 3,015,556 2,247,956 767,600
== 447,660 447,660 0
= 2,567,8% 1,800,2% 767,600
=M 917,526 155,126 762,400
== 1,500 1,500 0
= 916,026 153,626 762,400
SEAE |2t 810,456 50,456 760,000
401 Al&HIZLLOHY] 805,000 45,000 760,000
01 Al&HI 805,000 45,000 760,000
Os&g 01 M2 760,000,000 760,000 0 760,000
RESsEI|IE2 2 67,086 64,686 2,400
201 L2 ZH| 12,980 10,580 2,400
02 3324l 8,740 6,340 2,400
erSplier= 700,0002%122 8,400 6,000 2,400
SEHAXA 2,098,030 2,092,830 5,200
== 446,160 446,160 0
= 1,651,870 1,646,670 5,200
S22 2tel 130,870 125,670 5,200
307 212t01 ™ 107,870 102,670 5,200
03 I HEESHHIEX 86,200 81,000 5,200
Oa0IZ&uE =2z 29
13,500,000& 13,500 12,000 1,500
ONESZZRI[AMEZN e 2
13,500,000& 13,500 12,000 1,500
ON==2Z0|Lels|ME 2 2
13,500,000 13,500 12,000 1,500
OLENMLME X 24
10,700,000& 10,700 10,000 700
NEH SAXE L NHESA 1,673,448 1,615,280 58,168
= 362,988 345,488 17,500
= 467,400 467,400 0
== 187,09 183,049 4,050
= 655,961 619,343 36,618
S|A=SXIKA 1,504,982 1,446,814 58,168
= 362,988 345,488 17,500
= 433,496 433,496 0
== 172,677 168,177 4,500
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gxl X ZH J_]_|>
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M AEE SIKE & HASA
o9 slg=aNE (Crel: 2l
2N -3 - A(SH) - MRAR - BAS Oil &rol N3 A HwsS2

= 535,821 499,653 36, 168
XA 2HE oM 29 53,950 48,950 5,000
201 L2 3| 26,750 21,750 5,000
03 SAL2ZH| 5,000 0 5,000
OINE-EINE= g 5,000,000 5,000 0 5,000
NGARIEHE2AN MERA 12| 47,868 44,700 3,168
== 6,000 6,000 0
= 41,868 38,700 3,168
307 QI2+0|H 47,868 44,700 3,168
== 6,000 6,000 0
= 41,868 38,700 3,168
10 A2 XA EEE 2362 x 47,868 44,700 3,168

OXGARI 2FE M MEEA 2124b|
3,989,000 %101x12& 47,868 44,700 3,168
== 6,000 6,000 0
= 41,868 38,700 3,168
SHAAA2EEAM 23 37,000 22,000 15,000
== 11,100 6,600 4,500
= 25,900 15,400 10,500
307 QI2+0| & 15,000 0 15,000
== 4,500 0 4,500
= 10,500 0 10,500
11 AIBISXIAIEE X 15,000 0 15,000

OSHASAMIBEEM SatAtb]
5,000,000&*301 SH 15,000 0 15,000
== 4,500 0 4,500
= 10,500 10,500
SEHARIZ2IAF Q14| 71,544 71,544 0
= 35,772 35,772 0
= 35,772 35,772 0
101 21| 71,544 71,544 0
= 35,772 35,772 0
= 35,772 35,772 0
01 E= 0 35,4% A35,496
OSEAIZEIAAIZILE T LI IHSRH) 0 35,4% A35,496
0o1=2(IIxe=) 2| 0 26,428 N26,428
= 0 13,214 A13,214
= 0 13,214 A13,214
04 UAS 2 0 2,%1 A2,961
= 0 1,480 A1,480
= 0 1,481 1,481

0SSR (AZHI RIS

2| 0 1,269 A1,269
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SR
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M AEE SIKE & HASA
= SIYSANA CEREE)
SA - HH - G(B1H) - NIRAY - BES Ol bl ol 3 o HmE==T
= 45,000 45,000 0
= 105,000 105,000 0
201 Let23Y| 32,600 0 32,600
== 9,780 0 9,780
= 22,820 0 22,820
01 At22t2ltl 32,600 0 32,600
Osgsa3 Jlgta= 32,600,0002 32,600 0 32,600
== 9,780 0 9,780
= 22,820 0 22,820
301 LEt2AZ 82,300 0 82,300
== 24,690 0 24,690
= 57,610 0 57,610
02 MBI ERN2H2(FLAHS, XLHA) 82,300 0 82,300
OFHE-ZE NS A 523,0002% 1000} 52,300 0 52,300
== 15,690 0 15,690
= 36,610 0 36,610
OAHLEE K3 200,000 *5090! 10,000 0 10,000
== 3,000 0 3,000
= 7,000 0 7,000
OAZRH0| g AbIA

50,0002 *201*52 %43 20,000 0 20,000
== 6,000 0 6,000
= 14,000 0 14,000
307 2I2+0|H 13,100 150,000 136,900
== 3,930 45,000 241,070
= 9,170 105,000 295,830
11 AISISXIAIEE X 13,100 150,000 136,900
OselE=sA2dyH 2Y o 0 150,000 150,000
== 0 45,000 245,000
= 0 105,000 105,000

O0Pl= HH2IAIE(2etA)
13,100,000& 13,100 0 13,100
== 3,930 0 3,930
= 9,170 0 9,170
402 Q124 X201 A 22,000 0 22,000
== 6,600 0 6,600
= 15,400 0 15,400
02 QI2FXHEAIEE (01X ) 22,000 0 22,000
F=H HEALS 2,000,000 %11J}5 22,000 0 22,000
== 6,600 0 6,600
= 15,400 0 15,400
AFES OHEAMD AW MH|A A 20,000 0 20,000
= 10,000 0 10,000




SN SRFHD
o

. oEE SXAA & N2SAE
SR SIB=AAE (CHo|: M)
S - B - 2I(B)H) - HRA - BES Ol o ol =) e GmE=l

= 10,000 0 10,000
201 LBt23Y| 10,500 0 10,500
= 5,250 0 5,250
= 5,250 0 5,250
02 2224l 10,500 0 10,500

OfD1It7 ere&ol SXS)| 23
10,500,000 10,500 0 10,500
= 5,250 0 5,250
= 5,250 0 5,250
301 it 9,500 0 9,500
= 4,750 0 4,750
= 4,750 0 4,750
01 MBI EEE 25 2(=DEETHA) 9,500 0 9,500
OF <t 9,500,000 9,500 0 9,500
= 4,750 0 4,750
= 4,750 0 4,750
AHEE OIRAE HHZ MHIA ALY 15,000 0 15,000
= 7,500 0 7,500
= 7,500 0 7,500
201 Lt 15,000 0 15,000
= 7,500 0 7,500
= 7,500 0 7,500
01 At22t2ltl 4,200 0 4,200
Oos:EE8 + 4,200,000 4,200 0 4,200
= 2,100 0 2,100
= 2,100 0 2,100
R332 10,800 0 10,800

©F [ =

9,000 *20001x6¥ 10,800 0 10,800
= 5,400 0 5,400
= 5,400 0 5,400
SAF QIZE 168,466 168,466 0
s 33,904 33,904 0
== 14,422 14,872 A450
= 120,140 119,690 450
S AHIE 14,200 14,200 0
== 4,250 4,700 A450
= 9,950 9,500 450
307 212+0 2,200 2,200 0
== 650 1,100 A450
= 1,550 1,100 450
02 QIZHEAAHE R 2,200 2,200 0




SA:
X{XH -
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o
chgl:

S8 SAAE 2 AH2SA
HEAL 0lTel A5

2A - Z3H - A(3) - MRAKY - BES HlwsEZ
OXFRZAMRF Ha=B 4t
1,100,0004%201 2,200 2,200 0
< 650 1,100 450
= 1,550 1,100 450
2AEAF 2CIUIOIE 2l2d] 66,510 66,510 0
=z 33,255 33,255 0
< 9,977 9,977 0
= 23,278 23,278 0
101 Q14| 66,510 66,510 0
z 33,255 33,255 0
(= 9,977 9,977 0
= 23,278 23,278 0
01 B 0 66,510 166,510
OX=A 2CIHI0IE Q1] 0 66,510 166,510
0122 (LIIH92) 0 53,932 53,932
=z 0 26,966 126,966
(= 0 8,001 18,091
= 0 18,875 18,875
o= 0 2,957 N2,957
=z 0 1,478 N 1,478
(= 0 444 N4
= 0 1,035 ~1,035
0S2A 2L AIZHIE RIS
0 2,586 N2,586
=z 0 1,293 ~1,293
< 0 387 N387
= 0 06 A906
OXHZ A 0 3,360 13,360
=z 0 1,680 ~1,680
< 0 504 N504
= 0 1,176 N1,176
0XZExH| 0 3,675 N3,675
= 0 1,838 ~1,838
< 0 551 551
= 0 1,286 N1,286
02 JIEHE B4 66,510 0 66,510
OX=A CIHI0IE Q12| 66,510 0 66,510
001=23(YIIH9=2) 26,966,000242¢0! 53,932 0 53,932
=z 26,966 0 26,966
< 8,091 0 8,001
= 18,875 0 18,875
Z=initul=s 2,957,000+ 1 2,957 0 2,957
=z 1,478 0 1,478




SN

M o=y 2XXY L TASA
el KAJASAF olZet 5 (CH: M)
2A - Z3H - A(3) - MRAKY - BES Oil &rol J & N HlwsEZ
[ 444 0 444
2 1,035 0 1,035
0SSR (AZHI RIS
107,7102%201 122 2,586 0 2,586
Fas 1,293 0 1,293
= 387 0 387
= 906 0 906
0F Sz A| 140,000 *201x 122 3,360 0 3,360
Fas 1,680 0 1,680
= 504 0 504
= 1,176 0 1,176
(=Nl 153, 12024%201x 122 3,675 0 3,675
Fas 1,838 0 1,838
== 551 0 551
= 1,286 0 1,286
T EAF 2CIHIOIH £ 16,248 16,248 0
101 2124b| 6,139 6,139 0
01 2= 0 6,139 26,139
OXFAS At ZCIUIOIE 0 6,139 6,139
OAIRIRIZ2R4=Ef o 0 4,733 24,733
0HDIE AHH| o 0 1,406 A1,406
02 JIEtX S 6,139 0 6,139
OXFAS At ZCIUIOIE 6,139 0 6,139
OAIRIRIZ2R4=Ef
9,860 *201x20 A 2412 4,733 0 4,733
0AIIE &H| 7.72024%201x91 A2+ 1,406 0 1,406
304 HSRE=S 4,259 4,259 0
02 20IAHAEEF 3,09% 4,259 21,163
OAIZIHED MBS R NESE J|aRY
= o 0 1,163 A1,163
M SRHE(PIHL) 22X BES2E2 S 1,163 0 1,163
OAIZIHED MBS R NEEE J|aRd
E 66,434, 0002+ 1.75% 1,163 0 1,163
0D | ZME ST 12,888,399 12,933,232 44,833
= 9,966,504 10,013,927 AT ,423
as 186,599 173,761 12,838
o= 1,209,184 1,212,582 A3,398
= 1,526,112 1,532,962 26,850
NASE JITNESH 10,653,282 10,658,382 25,100
= 8,342,850 8,342,850 0
as 113,866 113,866 0
= 1,057,290 1,058,310 21,020
= 1,139,276 1,143,356 24,080
MAS XA YsrEdI2 X 1,000 6,100 25,100
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SN SRFHD
K XH - QD|j| Al
(=

SR HASS JZMEBE (el &)
SN - B S2(3) - HIRAS - BES Ol ol ol & o CmE==
= 200 1,220 1,020
= 800 4,830 A4,080
301 L2 N= 1,000 6,100 5,100
== 200 1,220 1,020
= 800 4,880 A4,080
02 MBI EEN262(FLAHS, XEHA) 1,000 6,100 5,100
OMASAE &tEtIs KA
100, 0001001 1,000 6,100 25,100
== 200 1,220 1,020
= 800 4,880 A4,080
# 2,115,598 2,160,390 N4 TR
= 1,623,654 1,671,077 NAT,423
= 11,110 0 11,110
== 139,569 142,293 A2, 724
= 341,265 347,020 Nb,755
= 15,871 15,871 0
= 0 11,110 A11,110
= 11,110 0 11,110
== 1,428 1,428
= 3,333 3,333
sl 15,871 15,871
= 0 11,110 A11,110
= 11,110 0 11,110
== 1,428 1,428 0
= 3,333 3,333 0
A2 S XA EHE 23 15,871 15,871
OAtell 22| M HMIH Ar&tAtelizel)
15,871,000 15,871 15,871 0
= 0 11,110 A11,110
= 11,110 0 11,110
== 1,428 1,428
= 3,333 3,333
& SALA K RHA 5,400 4,800 600
301 LPtEN= 5,400 4,800 600
g2a3 5,400 4,800 600
OAIBISXIAL MM (KHEHIH)
50,0002 921123 5,400 4,800 600
S-SR (MAEY EFAY) 146,051 191,443 N45,392
= 116,841 153, 154 N36,313
= 8,763 11,487 A2, 724
= 20,447 26,802 6,355
S0 146,051 191,443 N45,392
= 116,841 153, 154 N36,313
= 8,763 11,487 A2, 724

g




SN =X
XE: 2DIJ|EA
(e

Hel MASS NN CEREE)
S - B - 2I(B)H) - HRA - BES Ol o ol =) e GmE=l

= 20,447 26,802 26,355

13 SIS0 CHEHE A H L EAIY| 146,051 191,443 245,39
ORI S XA (K== XINER o)

146,051,000 146,051 191,443 A45,392

= 116,841 153, 154 36,313

= 8,763 11,487 A2, 724

= 20,447 26,802 26,355

HASE =X 100,539 95,480 5,059

= 61,623 59,8% 1,728

= 12,325 11,979 346

= 26,591 23,606 2,985

Al HLHA e (220 22lA 77,029 74,869 2,160

= 61,623 59,8% 1,728

= 12,325 11,979 346

= 3,081 2,99 86

101 el24b| 64,836 62,770 2,066

= 51,869 50,216 1,653

= 10,374 10,032 342

= 2,593 2,522 71

03 SR (PINAHY) 22X+ 64,836 62,770 2,066

O2lZ =0 &He|AL elzdg(22!)

64,836,000& 64,836 62,770 2,066

= 51,869 50,216 1,653

= 10,374 10,032 342

= 2,593 2,522 71

304 HSRE=S 12,193 12,099 A

= 9,754 9,679 75

= 1,951 1,947 4

= 488 473 15

04 SRE(PIHL) 22N BEHEREZ S 12,193 12,099 A

OQ=22022IAl E82 J|128242 12,193 12,099 A

0=2eIz 2 683,580 %201 122 %4 . 5% 2,899 2,783 116

s 2,319 2,226 3

= 464 445 19

= 116 12 4

0AHZEH 2,683,580 %201x 1223, 545% 2,284 2,192 (7

s 1,827 1,754 73

= 365 350 15

= R 88 4

&I IQYEH 2,683,580 %12.95% 348 281 67

s 278 225 53

= 56 45 "

= 14 " 3
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SN SRFHD

T =0 EMEEE
=P MASE 22 XE CERE))
S - B C2(S) - HIRAR - BES Ofl koK o3 o ClimE==l
0nNEEd 2,683,580 %201 %1221 . 75% 1,128 1,082 46
= 902 866 36
== 180 173 7
= 46 43 3
OAMTHEH 2,683,580 %201 x 122 1% 645 619 26
= 516 495 21
== 103 99 4
= 26 25 1
01Xz B 4,889,000 4,889 5,142 2253
s 3,912 4,113 A201
== 783 835 AB2
= 194 194 0
O|E=0 S (A== 0H=2IAN 23,510 20,611 2,899
101 eI24b| 23,510 20,611 2,89
03 SR (PINAHY) 22X+ 23,510 20,611 2,89
O30 A2IAL MR SY
65,000R*201x 12 1,560 4,080 22,520
Oz 3¢ &2|AF ZHSAH|
140,000& x221x 123 3,360 0 3,360
O30 &AL DIESY
160, 000212 1,920 1,800 120
Oz 20 22IA THEAHS
820,000 820 0 820
Oz a0t &2|AF BEFIIHI
2,719, 45024%201%120% 6,527 6,368 159
Ozt 2t ER s FE3 B8N
40,0002 #2021+ 123 960 0 960
SAXE JgR= 16,874,697 17,172,062 AN297,365
= 9,106,978 9,372,201 265,223
== 1,648,478 1,747,468 A98,990
= 6,119,241 6,052,393 66,848
el & MBHEXIA 2,756,992 2,912,768 A155,776
= 1,803,946 1,822,294 N18,348
= 292,074 295,322 A3,248
= 660,972 795,152 134,180
M2ISXA Y BRI MM 149,000 282,000 133,000
301 LetEEZ 149,000 282,000 133,000
14 JIEIE A3 149,000 282,000 133,000
OAIZIEXIAN & QAP MRS 149,000 282,000 133,000
OALSISXIAIZ(ZO0HC!, 64, Ots)
oA 0 66,000 266,000
OAISISXIAIE MMl (ZoHe!)
149,000,000& 149,000 216,000 267,000
ZoHelel =l XI& 30,000 53,200 223,200
= 24,000 42,560 18,560
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X{XH -
o=

=71 =3}
STXE JBmE

el Zoiel S MEHE X (el &)
2A - Z3H - A(3) - MRAKY - BES Oil &rol J & N HlwsEZ
< 4,200 7,448 A3,248
= 1,800 3,192 21,392
403 XX MSAH201H 30,000 53,200 223,200
= 24,000 42,560 218,560
< 4,200 7,448 A3,248
= 1,800 3,192 21,392
02 I 2SOICHE A2 R L ETALS I 30,000 53,200 223,200
Q&ofelelZHl X 30,000,0002! 30,000 53,200 A23,200
= 24,000 42,560 218,560
< 4,200 7,448 23,248
= 1,800 3,192 21,392
HASEOHR! R L HAMH] K& 2,000 1,576 424
= 1,000 788 212
= 1,000 788 212
301 2ErEEZ 2,000 1,576 424
= 1,000 788 212
= 1,000 788 212
01 MBI EEE 25 2(=DEETHA) 2,000 1,576 424
OMASEOR! MEA L2281 & ZAK X
& 2,000,000& 2,000 1,576 424
= 1,000 788 212
= 1,000 788 212
NI A Z S XIS 6,042,813 5,917,664 125,149
= 3,928,083 3,851,324 76,764
< 652,399 636,875 15,524
= 1,462,326 1,429,465 32,861
NI ESKIA ItatEt 115,776 103,809 11,967
= 81,043 72,666 8,377
= 10,420 9,343 1,077
= 24,313 21,800 2,513
308 AHXISHMISOIA 115,776 103,809 11,967
= 81,043 72,666 8,377
= 10,420 9,343 1,077
= 24,313 21,800 2,513
13 2SI 2SOICHEHZ A H I EFASY] 115,776 103,809 11,967
OXCIESKIJ JtatE
115,776,000 115,776 103,809 11,967
= 81,043 72,666 8,377
= 10,420 9,343 1,077
= 24,313 21,800 2,513
L THEAMEIA 108,000 91,200 16,800
= 75,600 63,840 11,760
o= 16,200 13,680 2,520
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SN

X{XH -
o=

SXEH
EXXE Jgt=

e ZOHRIAIS S S KA (CH]: X 21)
SH - BB G(3) - AR - LS O o ol 3 o IRz
= 16,200 13,680 2,520
308 XXIHHMSOIA 108,000 91,200 16,800
= 75,600 63,840 11,760
= 16,200 13,680 2,520
= 16,200 13,680 2,520
13 S| 2SO CHEHE A H L EAIY| 108,000 91,200 16,800
O HEMEIA 108,000,000 108,000 91,200 16,800
= 75,600 63,840 11,760
= 16,200 13,680 2,520
= 16,200 13,680 2,520
ZES LY SE=S(F2F MWL) 288,006 233,805 54,201
= 144,003 116,903 27,100
== 43,201 35,070 8,131
= 100,802 81,832 18,970
307 212t01 ™ 288,006 233,805 54,201
= 144,003 116,903 27,100
== 43,201 35,070 8,131
= 100,802 81,832 18,970
1 AMSISXAMLEE 288,006 233,805 54,201
OXEZ LLEol SE=x3(F2 IHE 1:1)
X& 288,006,000& 288,006 233,805 54,201
= 144,003 116,903 27,100
== 43,201 35,070 8,131
= 100,802 81,832 18,970
ZES g SE=ss(F2 188) 82,014 39,833 42,181
= 57,410 27,833 29,527
== 7,381 3,585 3,79
= 17,223 8,365 8,858
308 XtXIHMSOI&E 82,014 39,833 42,181
= 57,410 27,833 29,527
== 7,381 3,585 3,79
= 17,223 8,365 8,858
13 SIS0 CHEHE A H LI EALY| 82,014 39,833 42,181
Ozl=3 LR =2t 8 111 XA
82,014,0002 82,014 39,833 42,181
= 57,410 27,833 29,527
== 7,381 3,585 3,79
= 17,223 8,365 8,858
ZOHRIEHO| S & 20,985 20,290 695
= 1,768 1,212 556
== 886 886 0
= 18,331 18,192 139
ool x=010| K& 2,210 1,515 695
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SN =X
Hu: =xNR JPRE

el HOjeIESSA CEEREE))
SA - BB CRI(3)) - HMIRAIY - BYS Ol bl ol E o F{ImE==T

= 1,768 1,212 556

= 442 303 139

301 LEtEAZ 2,210 1,515 695

= 1,768 1,212 556

= 442 303 139

01 AR EE 26 2(=0EETHA) 2,210 1,515 695

OFOHRIEXTJ| WEAKN

2,210,000 2,210 1,515 695

= 1,768 1,212 556

= 442 303 139

ZoHelUXe| &S 849,073 848,902 171

= 405,405 405,357 48

== 133, 101 133,034 67

= 310,567 310,511 56

ol xiel(Lerd) 300,741 300,742 N

= 150,371 150,372 N

== 45,111 45,111 0

= 105,259 105,259 0

101 21| 298,741 298,742 N

= 149,371 149,372 |

o= 44,811 44,811 0

= 104,559 104,559 0

M4 JI2tH2Z2 XS E> 298,741 298,742 N

OEoHe! LersdXtel 298,741 298,742 N

(EE=HAE 18,876,000 18,876 18,877 A1

= 9,438 9,439 |

== 2,832 2,832 0

= 6,606 6,606 0

oI LRl (AIZHAI) 120,297 120,300 A3

= 60, 148 60,099 49

== 18,045 18,031 14

= 42,104 42,170 6B

101 Q14| 119,497 119,500 N3

= 59,798 59,749 49

o= 17,940 17,926 14

= 41,759 41,825 6B

04 JI2tHI2Z2 XS E 119,497 119,500 A3

OZOHR! AlIZERIL X2 119,497 119,500 N3

02E& A= 7,549,000 7,549 7,552 A3

= 3,825 3,776 49

== 1,147 1,133 14

= 2,577 2,643 N6B

delSa SSEL XESE LRt 16,885 17,029 A144
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SN
X XH -
(=

o
el

SRR}
SRR Ol
ZojolRielaE

SH - BB G(3) - AR - LS O o ol 3 o IRz
= 5,066 5,109 A3
= 11,819 11,920 A101
307 212+0| ™ 16,885 17,029 A144
== 5,066 5,109 A3
= 11,819 11,920 A101
1 AMSISXAMLEE 16,885 17,029 A144
Ode|sd SSEel It
16,885,0002! 16,885 17,029 AN144
== 5,066 5,109 A3
= 11,819 11,920 A101
SSEOHC! eIEH 21,379 21,060 319
== 6,414 6,318 9%
= 14,965 14,742 223
307 212t0| ™ 21,379 21,060 319
= 6,414 6,318 9%
= 14,965 14,742 223
1N AMIISXAMEEE 21,379 21,060 319
OES &Rl e H 21,379,0002 21,379 21,060 319
= 6,414 6,318 9%
= 14,965 14,742 223
ORI SXIAIE XA 7,204,834 7,472,438 N267,604
= 2,967,771 3,292,014 AN324,243
= 570,018 681,351 A111,333
= 3,667,045 3,499,073 167,972
ZOHIHFAIE 2GXA 4,238,389 4,619,202 380,813
= 2,966,878 3,233,442 N266,564
= 381,451 415,728 AN34,277
= 890,060 970,032 AT79,972
307 212t01 ™ 4,238,389 4,619,202 380,813
= 2,966,878 3,233,442 N266,564
= 381,451 415,728 A34,277
= 890,060 970,032 AT79,972
10 ASIZ2 XA EEE2IEIE X 4,238,389 4,619,202 380,813
OZOHUNHFAIE 22|
4,238,389,0002 4,238,389 4,619,202 A380,813
= 2,966,878 3,233,442 N266,564
= 381,451 415,728 A34,277
= 890,060 970,032 AT79,972
ZOHRIHFAIE RIS Of2Y 7,963 11,376 A3,413
= 2,389 3,413 A1,024
= 5,574 7,963 2,389
307 2I2t0| ™ 7,963 11,376 A3,413
= 2,389 3,413 A1,024
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SN =XFD
Ha: 2NN JPRE

=2l ZOHRIZXIAIEXIA (CH2]: & 2l)
SH - BB G(3) - AR - LS O o ol 3 o IRz
= 5,574 7,963 2,389
10 A2 XA EEHE2IEI2 X 7,963 11,376 23,413
OZOHUHFAIE ORIZEX HA+E
7,963,000 7,963 11,376 A3,413
== 2,389 3,413 A1,024
= 5,574 7,963 2,389
SOOI HFAIE SIFHEF)| g XA 1,488 2,770 N1,282
= 893 1,662 AT69
== 178 332 A154
= 417 776 A359
307 212t01 ™ 1,488 2,770 N1,282
= 893 1,662 AT69
== 178 332 A154
= 417 776 A359
1 AMSISXAMLEE 1,488 2,770 N1,282
OZOINFAIE SOIE@FD| diEs S
1,4838,000& 1,488 2,770 A1,282
= 893 1,662 AT69
== 178 332 A154
= 417 776 A359
ZOHCIAIE SAIRE 200,200 211,269 A11,089
== 60,060 63,331 23,321
= 140, 140 147,883 AT,748
307 212t01 ™ 200,200 211,269 A11,069
== 60,060 63, 331 23,321
= 140,140 147,883 AT,748
10 A2 XA EEE 232X 200,200 211,269 A11,069
OZOUNHFAIL, NGAIRIHEAL S B
MRS 200,200,000 200,200 211,269 211,089
== 60,060 63,331 23,321
= 140, 140 147,883 AT,748
LIS 28 X2 1,715,684 1,669,550 46,134
== 10,000 42,000 32,000
= 1,705,684 1,627,550 78,134
307 212t0| ™ 1,689,650 1,669,550 20,100
== 10,000 42,000 A32,000
= 1,679,650 1,627,550 52,100
10 A2 XA EEE2IEIE X 1,689,650 1,669,550 20,100
OtIEST 222 4 22) 29|
1,689,650,000& 1,689,650 1,669,550 20,100
= 10,000 42,000 32,000
= 1,679,650 1,627,550 52,100
401 Al&HIZLLOHY] 26,034 0 26,034
01 Al&HI 26,034 0 26,034
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2A:
R{ZH
[== R NS

o
el

SXEH
SXXE D=
HOHRI=XIAI A&

SH - BB G(3) - AR - LS O o ol 3 o HDE2
OsEINEAM (B2 4 B23A1)
10,775,000 10,775 0 10,775
OFINEANG (22 Nl NSES S &
XISAH 15,259,000& 15,259 0 15,259
ZHOH I M EH0| S K| HIE 124,600 124,600 0
== 5,500 6,120 2620
= 119,100 118,480 620
307 212t01 ™ 124,600 124,600 0
== 5,500 6,120 2620
= 119,100 118,480 620
10 A2 XA EEE2I6I2 X 124,600 124,600 0
O&ET ZOHIME0|SKIFME 23|
124,600,000 124,600 124,600 0
= 5,500 6,120 2620
= 119,100 118,480 620
=S HH 117,000 117,000 0
= 4,500 5,130 2630
= 112,500 111,870 630
307 212t01™ 117,000 117,000 0
= 4,500 5,130 2630
= 112,500 111,870 630
10 AISIZ2 XA EEE 232X 117,000 117,000 0
OMEZ=HESEH 23|
117,000,000 117,000 117,000 0
= 4,500 5,130 2630
= 112,500 111,870 630
AR =22 SHIH 120,000 120,000 0
= 23,000 25,470 A2,470
= 97,000 94,530 2,470
307 212t0| ™ 120,000 120,000 0
= 23,000 25,470 A2,470
= 97,000 94,530 2,470
10 ASI2 XA EEE2IEIE X 120,000 120,000 0
O&EZ A= ESHIE 23|
120,000,000 120,000 120,000 0
= 23,000 25,470 A2,470
= 97,000 94,530 2,470
ORI EH S A | =X 2 HH 63,500 66,842 A3,342
== 12,700 12,700 0
= 50,800 54,142 A3,342
307 212+0| ™ 63,500 66,842 A3,342
= 12,700 12,700 0
= 50,800 54,142 A3,342
10 A2 XA EEE2IE|IE X 63,500 66,842 A3,342
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SN
X XH -
(=

o
el

SXEH
SXXE D=
HOHRI=XIAI A&

SA - HH - G(B1H) - NIRAY - BES Ol bl ol 3 o HmE==T
OZEHAETZHOHCIEH SR = XA HH
22| 63,500,0002! 63,500 66,842 A3,342
== 12,700 12,700 0
= 50,800 54,142 N3,342
ZOHRIDIEXIREH 120,000 110,000 10,000
== 36,000 33,000 3,000
= 84,000 77,000 7,000
307 QI2+0|H 120,000 110,000 10,000
== 36,000 33,000 3,000
= 84,000 77,000 7,000
10 AlSIZ XA EEE 2362 x 120,000 110,000 10,000
OXHDIEXIMEH 29
120,000,000 120,000 110,000 10,000
== 36,000 33,000 3,000
= 84,000 77,000 7,000
ZOHRIAHFAIE JISEZAMS 0 113,819 113,819
= 0 56,910 256,910
== 0 39,837 39,837
= 0 17,072 A17,072
402 212t X201 A 0 113,819 113,819
= 0 56,910 256,910
== 0 39,837 39,837
= 0 17,072 A17,072
02 QI2FXHEAISEE (01X ) 0 113,819 113,819
OXOHRIHFAIE JISEZAIH (2HA)
o 0 113,819 113,819
= 0 56,910 256,910
== 0 39,837 39,837
= 0 17,072 A17,072
ofelsl 22 190,000 0 190,000
201 Let23Y| 33,900 0 33,900
01 At22t2lt| 18,800 0 18,800
OO0lAlHIZ 3,000,000 %41 A 12,000 0 12,000
O&I|Agotd, S24D|,21FH| & 22|
1,100,000&x4& 4,400 0 4,400
OgtA=H| 200,00024%23] 400 0 400
OJIEt 27 & AIEEH| |XY|
500,0002%4 2,000 2,000
02 3324l 15,100 15,100
O3322(HJ|, &dtS, ItA)
3,100,000&*4E 12,400 0 12,400
OMATS ACOLME G|
2,100,000&*13] 2,100 2,100
OME=Z A 600,0002*13] 600 600
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SN =XFD
Ha: 2NN JPRE

=2l ZOHRIZXIAIEXIA (CH2]: & 2l)
SH - BB G(3) - AR - LS O o ol 3 o IRz
401 Al&HIZLLOHY] 40,000 0 40,000
01 Al&HI 40,000 0 40,000
OHIEE L AMEX &X
30,000,0002 30,000 0 30,000
Oggactele & 2+ &X|
10,000, 000& 10,000 0 10,000
405 KHAESHI 116,100 0 116,100
01 AL ESSFSHI 116,100 0 116,100
OAMRE &0 72 1,000, 000 *30H 30,000 0 30,000
Oglsl 2 500, 0002 %607} 30,000 0 30,000
=42 &I 7L 500,000 * 100K 50,000 0 50,000
OJIEt 28 F(A3, 41
6,100,000 6,100 0 6,100
MRS (SXE) 1,817,818 523,215 1,294,603
LHEHeH K= 526,332 523,215 3,117
ZSHIISEESHNEE 526,332 523,215 3,117
701 JIEte| HISEES 526,332 523,215 3,117
01 JIERRIHNEEZ 526,332 523,215 3,117
O2=S0II=EE3H HE3
526,332,000 526,332 523,215 3,117
I=FSNES 1,291,486 0 1,291,486
BXxz BtE= 1,291,486 0 1,291,486
802 Btat=DIEt 1,291,486 0 1,291,486
01 S NEAR3EEZ 1,024,994 0 1,024,994

146, 194,3202 146,195 0 146,195
020244 XIS XEHIE 2DAY Okt
3,710& 4 0 4
02024 THEZZ ALY EHTH(0IXIZE)
211,837,200 211,838 0 211,838
O2024E JIARIE L2 XIR ALY Okt
639,240 640 0 640
020244 HOHRIHFAIE 2LXIAAIY T
ZHOH (0| KHIZEY) 98,481,350 98,482 0 98,482
O2024E HOHRIHFTAIE SIIEFD| eERE
K2 A Okt 250 1 0 1
O2024 ORI ATHEAIE JISEZAY
OIkt 4,5802 5 0 5
02022 HONQISEI|D| At EISHEH(O| XE
&) 329,200 330 0 330
02023 HONQISEI|I| At EISHEH(O| Xt
st 02,270 903 0 903
020244 HONQISEI|D| At EISHEH(O| Xt
st 36,370 87 0 37




A SXEH
M WRES(SXEH)
& BEXES (CH2l: XM 2l)
SA - B SR(3H) - NRAY - BAS 04l v ol = o HimE==]
02024 MASTONO! ZTHA 230l & A
Bl XIZAY EEHRIOH(O|XIEZE)
12,2702 13 13
02024 HOHIHZ2 HEHAIH(O|XIEE)
14,896,780 14,897 14,897
02024 ZOH=EH(J1=) EHEH(0| KL E)
1,330,350& 1,331 1,331
02024 HOl+SH(XHatel S) EERH(O| Xt
) 2,482,310 2,483 2,483
02024 EOHO! E=SXI2IA EISHEIH(O| X}
&) 343,116,220 343,117 343,117
02024 HOHO! E=SXI2AFY JHAEE ZISH
LHH(OIRHEE) 6,352,760 6,353 6,353
020245 == LN =28 Y LY
KIZAt ESHEOH(O|XIZEL)
49,022,430& 49,023 49,023
O2024F ==ZT gLEoel =2 J88 2
2 XIZAY EEHRIOH(O|RIEE)
22,016,090& 22,017 22,017
02024 HOHQILUXIZIAIY L (HMUH) &
SHAFOH( Q| AHZ 5,848,060 5,849 5,849
02024 HOHQIUXIZIAIG L (AIZEA) &
SHRFOH( O] AHZ & 3,751,990 3,752 3,752
02024 HOILXIZIAIG (SRILXE]) &Y
ZHOH (0| XHIZEY) 1,908,040 1,909 1,909
02024 FOHILXIZIAIE (ZLE ORI RYE
SA BEXie]) EEHAK(OIXIEE)
1,093, 160& 1,094 1,094
02024 SEHAFIIZHEIAL KI2IAMY &g KHot
1,141,080 1,142 1,142
020244 S AEs SSMHIA XIRAS
ESELFS Rl ¢,530 9% %5
02024 NS AP Ol & 22| AIZANY &3
ZHoH 783,310 784 784
02024 213X KA AIY &SHRH (0| XHE
&) 82,613,4002 82,614 82,614
02024 XISGAIZ MEIA SEXIAIY &I EHEHH(
OIXtEE) 7,556,970& 7,557 7,557
020244 HADISHZ XA Ok
130& 1 1
02024 LA=E AHIA KI2AAFY TS EH(
Ol XHXEE}) 21,264,6002 21,265 21,265
02024 THASAF E43H2C0 & SARH &
83 X2 )A ESHEH(O|KIEE)
1,262,590& 1,263 1,263
02 Al - SHIEZ=ZBHE= 266,492 266,492
02024 THALIHE SERIAA EIEHRHH(
OIXIZE) 87,020 8 8
02024 XS XEHE SRR AN Ol X
190& 1 1
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SN SXEHD
B3 YRES(SXZUD

o BEXE (el ®2l)

SA - FH - S2I(3I) - KIRAR - BaS il st ol F o e

020244 NSKZHE SAEE NRAA
IS KON (0| RFELE) 40,0502 41 0 41

O2024& XIS dlEel 2SEAKE Ok

480 1 0 1
020243 THEZ2Z A IS &HH (0| X&)
15,888,000 15,889 0 15,889
020243 JtARIEEEZ X2 AN O Xt
79,9003 80 0 80
020243 THoll &I IS A TS EFH (0| KHE
=) 64,995, 940! 64,926 0 64,926
02024 =HS0 AL ESHRIH(O|XIELE)
18,274, 14024 18,275 0 18,275
O2024F FHOHCIHFAIE 2SXAAAE &
ZroH (0| KHLE) 12,661,440 12,662 0 12,662
020043 FOHQIHFAIL ORIZDTF 22i4
SIANY] XIBHEFOH(O|XIELE) 289,330 290 0 290
Q202449 HOCIHFAIE SIIFED| ellEs
XISIAK OIXH 508! 1 0 1
02024 HOHOIAIE SAIKISE ESHEH( O]
P 5,518,500 5,519 0 5,519
O2024F FOHIMATHEAIE 2FH| KI2 A
A OIXt ] 1 0 1
O2024F HOHCIMATHEAIE SAHAY &
SHRFOH( 0| KIELE) 121,040 122 0 122
Q0244 pHAIFE S22 298] XIZAFE OIK
2,310 3 0 3
O2024F FOHRISX |2 SAtAY X2 AM
MaEol(0|XEE) 993,710 994 0 9%
020244 HO{CIME0|SKIJAME 298| Xl
SIAR Ol 74024 1 0 1
Q20244 =HSEHEH 298] XIZAIE OIX
71024 1 0 i
Q20243 AL EOCI=2HESHIE 28| X
SIAFR OIXH 3,430% 4 0 4
O024F FHOHCIH OIS XD | =X HEH 23|
KA EEHXHoH (O] KHEEY)
539,340 540 0 540
O2024F FHOHCIDIEX|AME 23U XI& A
= BOIDN; 5,4902! 6 0 6
Q024 SZSZEOHCIAICH Atell 2l XI& A
EIBHRIOH (| KHEEE}) 4,557 0402 4,558 0 4,558
Q2024 HOHCIMATHEAIL J|IsELAIS
Ol X 3,210& 4 0 4
020243 HOHOIHSAI TS ROH (O RHEEY)
1,876,710& 1,877 0 1,877
020243 N (J|x) DSEH(OIKIEE)
308,480 399 0 399
02024 O (XA S)AIYE TEHEHH(
0IRIZE) 734,970 735 0 735




SA:

X XH -
o=

et

S - B - BRI(SI) - HIRARY - BAS

Ojl st

&N

- (=]
02024 TH| HOH=SAIY & SHEHH(OXFE
8h) 577,250 578 578
020243 ZOHQl SSXIKAMY TSR (0| X}
fei=10) 44,115,030 44,116 44,116
02024 HOHQ! SESXIKAKY JrArE EoH
LHOH(O| Kb 2 E 816,380 817 817
Q20249 ESHNQ! =20| XISAIS EEE
OH( Q| XIZE) 7,219,530 7,220 7,220
020245 == LN =28 IHYE LY
KIZA ESHEOH(O|XIEEL)
14,705,830 14,706 14,706
O2024F ==ZT LLEoel =2 J88 2
o XA EEHAH(O| KHEE)
2,830,070& 2,831 2,831
020243 HOHOILU X2 |AIY ABSH(FMUH) &
HRU(O| KR 1,748,180% 1,749 1,749
020243 HOHOILU X2 |AFY LS (AIZEH) &
SHAFOH (0| KITLE) 1,126,000 1,126 1,126
O2024E HOHILXI2| A (BRI XI2]) &
ZOH(O| KFIEE) 572,010 573 573
02024 FOCIL KA (L E Ol Rt
SAF Bxaie]) HEHAH(0|KHEE)
327 ,940& 328 328
020243 Hel=a ST &5 LAt
At ZISHEIOH(O| KIELE) 2,703,270 2,704 2,704
020244 SSE0NQ! CIEHTIANY ESHEH( O]
K& 778,130& 779 779
O2024F HOHCIS2RD[D| & HO|AH| XAl
o ZEIGHERIOH( QRIS 102,6702 103 103
OR02413 FOHO! MEHO| TIZAIY & SEoH(
OIXt &) 21,8402 212 212
O2024E AT ABISTEEME A= ¥ 84
2 AP OIKH 4,4002 5 5
00248 =8R3X |RF 2ZH| XNJAE &
BEA(OINEE) 206,720 207 207
OR04E &£X2H RE i+l Yz
OH( 0| XHZE) 605,630 606 606
020245 SRARSA RE Holl=SAl &3
ZHH(OIRHEE) 202,9102! 203 203
020245 22 2T Hol-SAY TR
OH(O| KFELE) 2,299, 120 2,300 2,300
02024 EEMR TSI Holl=SAl D8
ZHH(OIRHEE) 3,113,440& 3,114 3,114
020244 6. 25BN RS Hol=S ALY S
OH(O| KFEE) 30,362,5302 30,363 30,363
02024 XISAAMSIBHEAN 29 L XA
of ZIBUROU(O|RIEE) 72,570 73 73
O20243 N=AE OlgE & 22| AIZHAY HE
& 469,980%! 470 470
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SN =XF
I YRES(ZXIHUD)
@ SRS (crel: xi2l)
A - 38 - H4(3H) - MIFAIY - BES Oil &l J 3 N u] IME=F2,s
Q0243 N=AF 02 BtHZR AX NJAS
O1f 16,8602 127 107
020243 2IS=SXIXI& AFY ESHEoH (O] XHXE
=) 10,326,660 10,327 10,327
02024 XISGAIZ MEIA SEXIAIY &I EHEHH(
Ol Xt S} 944,620 945 945
00245 HEADI224& XIRALS Okt
202 1 1
Q2024 LAa=E MUIA KIRAIY &S Ao
(OIXtEE) 2,658,080 2,659 2,659
O0243 ZBEE s|ULIsSeE3S AHAY
Ty EHOH (0| KHILEY) 7,676,400 7,677 7.677
020243 KHRSAHHIE 243t XIRAY S
ZHOH (0| KHIZEY) 1,552,050 1,553 1,553
020244 THASAH E43H2A0 L SAKK 2
82 KJ)AIY EESHRH(O|XIEE)
379,070 380 380
Q2024 = =LA MES TS A 014
1603 1 1
Q20248 ZEE 20| JIIPRRI|AIY & &t
2 oKt 620,3502 621 621
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24,499
24,499
24,499
24,499
24,499
24,499
24,499

&N

871,850
871,850
871,850
871,850
809,850
809,850
809,850

AbE E A A

Ojl st

896,349
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896,349
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H & 0l &8 AR Y Al A
2025ES =& 1 3 2SS0 ISSLIH SXEH
A SXIHD
M JRD|ZMEEE
gl MASE JSXJ(22S0IISSE3H) (S &)
2N -3 - A(SH) - MRAR - BAS Oil &rol N3 A HwsS2
SXZE2 661,405 635,633 25,772
= 89,934 89,934 0
& 22,484 22,484 0
= 548,987 523,215 25,772
IR ZMEEE 638,750 635,633 3,117
= 89,934 89,934 0
& 22,484 22,484 0
= 526,332 523,215 3,117
MASE S XA (A=SSHIISSLESIAH) 638,750 635,633 3,117
= 89,934 89,934 0
& 22,484 22,484 0
= 526,332 523,215 3,117
o220 AZAY| 15,000 15,000 0
= 12,000 12,000 0
== 3,000 3,000 0
201 L2 | 6,500 3,000 3,500
= 5,200 2,400 2,800
== 1,300 600 700
01 At22t2ltl 6,500 3,000 3,500
O2=30AIY WSl EL2Y|
6,500,000& 6,500 3,000 3,500
= 5,200 2,400 2,800
== 1,300 600 700
202 O4H| 8,500 8,000 500
= 6,800 6,400 400
== 1,700 1,600 100
01 =LHOHI 8,500 8,000 500
O2dz20 gRFA o 2 0 200 2200
= 0 160 A160
== 0 40 A0
O222022|AF EE 0
8,500,000& 8,500 7,800 700
= 6,800 6,240 560
== 1,700 1,560 140
301 LetEEF 0 4,000 24,000
= 0 3,200 A3,200
== 0 800 A800
01 A& 2H2(Z D2 ETS) 0 4,000 4,000
O2220 Atdl2tel E3tAt 2| 0 4,000 24,000
= 0 3,200 A3,200
== 0 800 A800
=220 =330l 97,418 97,418 0
= 77,934 77,934 0
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oA =

X{XH -
o=

cHo|: 3 (HHe M=)
. o9|(310) - NIRAY - B 3 o F{ImE==T
= 19,484 19,484 0
97,418 97,418 0
= 77,934 77,934 0
== 19,484 19,484 0
97,418 97,418 0
J191, 2|
82,418,000& 82,418 97,418 15,000
= 65,934 77,934 12,000
== 16,484 19,484 A3,000
Ot 230 AIZHAH 15,000,000 15,000 0 15,000
= 12,000 0 12,000
== 3,000 0 3,000
o|E=0iHl X (AZR2E2) 526,332 523,215 3,117
308 XXIHHMSOIM 526,332 523,215 3,117
07 MXIEHRIFES 526,332 523,215 3,117
O2zz20 3t XSH|l S(2RE3)
526,332,000 526,332 523,215 3,117
MRS (SXE) 22,655 0 22,655
SBAEXE(dz=0II2EL3H) 22,655 0 22,655
JIEtete g 22,655 0 22,655
802 Btat=DIEt 22,655 0 22,655
01 = N2A30E3 11,99 0 11,99
02024 SIS S ALY & et &toH
11,994,680 11,995 0 11,995
02 Al - EHIEXZ2EEZ 2,999 0 2,99
02024 IS SHAIY & et &toH
2,998,670 2,99 0 2,99
03 JIEIErEE S 7,661 0 7,661
OJIEtetaz2 (243, ZARIZH] S)
7,661,000 7,661 0 7,661
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